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Question 1

Question Type: MultipleChoice

What three stages do storage systems need to go through to realize SmartTier? (Multiple choice)

Options:

A- Initial capacity allocation
B- Data layout analysis
C- Data migration

D- 1/0 monitoring

Answer:

B,C,D

Question 2

Question Type: MultipleChoice




The backup is to copy and save the data or system. Once an error or disaster occurs, these backups can be used to restore the system

Data to restore the business to a normal operating state.

Options:

A- TRUE
B- FALSE

Answer:

Explanation:

Topic 4, Exam Pool D

Question 3

Question Type: MultipleChoice




Description 1: The CIFS share provided by a company's storage system is a public directory and can be accessed by users with
permissions.

Description 2: A company's storage system sets Homedir sharing so that different users can only access the same user name

Private directory.

Options:

A- Description 1 is correct, description 2 is incorrect
B- Description 1 error, description 2 error
C- Description 1 is correct, description 2 is correct

D- Description 1 is wrong, description 2 is correct

Answer:

C

Question 4

Question Type: MultipleChoice




Regarding HUAWEI OceanStor storage dynamic tiered storage technology, which of the following descriptions is incorrect?

Options:

A- SmartTier calculates and analyzes the activity of data to determine the activity level of the data

B- SmartTier automatically and dynamically moves data to different performance storage media according to different activity levels of
the data on

C- SmartTier data movement configuration-based data migration strategy

D- Data statistics, analysis and data migration of SmartTier features will affect business continuity and data availability

Answer:

D

Question 5

Question Type: MultipleChoice

In Huawei RAID 2.0+, is the description about chunck and extent correct?



Options:

A- chunck is the smallest unit for LUN to apply for space from the storage pool and free up space
B- The extent is the smallest unit for the storage pool to allocate resources from the hard disk domain
C- chunck is the smallest unit of hot data statistics and migration (data migration granularity)

D- The extent size of different storage pools can be different, but the extent size in the same storage pool is uniform

Answer:

D

Explanation:

Analysis: extent is a fixed-size logical storage space divided on the basis of CKG, the size is adjustable, and it is a hot data system.

The smallest unit of accounting and migration (data migration granularity) is also the smallest unit of applying space and releasing space
in the storage pool. Do not

The extent of the same storage pool can be different, but the extent of the same storage pool is uniform.
CKG is a logical storage unit composed of CKs from different hard drives in the same DG according to the RAID algorithm.

The smallest unit of resources allocated by the pool from the hard disk domain.



Question 6

Question Type: MultipleChoice

Huawei focuses on IT infrastructure in the ICT field.

Options:

A- TRUE
B- FALSE

Answer:

A
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